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Grade 4 - MAP Sample Quiz

Question 1: Math

What is 760 + 40?
a) 21remainder 4
b) 19 remainder 4
c) 19
d) 31 remainder 3

Question 2: Math

Farmer John packed 60 apples into four boxes, split equally. How many.apples
were in three boxes?

a) 15 apples
b) 20 apples
c) 36 apples
d) 45 apples

Question 3: Language Usage

Fill in the blanks with the correct adjective to show comparison with the help of
the underlined word.
The mango tree is tall, the palm tree is , but the pine tree is the tallest.
a) taller
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b) tall

c) very tall

Question 4: Language Usage

Which of the following options correctly uses the underlined homonym (a word
with different meanings) in the following sentence?
A big bear lives in this forest.

a) Randy could not bear to leave his pet dog at his grandparent’s house.

b) This mango tree bears a lot of fruit every year.

c) Tina bears the burden of extra chores at school as she is the class prefect.

d) All of the above.

Question 5:Reading
Read the passage and answer the question.

"Sara went to the park on a sunny afternoon. She brought her kite with her. The
kite soared high in the sky, dancing with the wind. Sara watched with delight as

the kite climbed higher and higher."

What does the word "soared" most likely mean in the passage?

a) Dropped

b) Flew high

c) Hid

d) Walked slowly
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Question 6: Reading

Read the passage and answer the question.

"During winter, many animals go into hibernation. Bears, for example, sleep
through the cold months to save energy and stay warm."
Why do many animals hibernate during winter?

a) To find food

b) To sleep more

c) To save energy and stay warm

d) To migrate to warmer places
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Answer Key:

Ql.c)
760+40=19

Q2.d)
Same number of apples were packed in each box.

If there were 60 apples in four boxes, then divide 60 by four to find the number of
apples in one box: 60 +4 =15

There were three boxes each containing 15 apples.

To find the total, either add up 15 + 15 + 15 or multiply 15 x 3 = 45 apples.

Q3. a) taller

The degrees of comparison for measurement of height in the English Language
with the word ‘tall’ are: tall, taller, tallest.

Q4. d) All of the above

The sentence ‘A big bear lives in this forest’ uses the word ‘bear’ as a noun.

The sentence ‘Randy could not bear to leave his pet dog at his grandparent’s
house’ uses the word ‘bear’ as a verb to express emotion.

The sentence ‘This mango tree bears a lot of fruit every year.” uses the word
‘bear’ as a verb to express work done.

The sentence ‘Tina bears the burden of extra chores at school as she is the class
prefect.” uses the word ‘bear’ as a verb.

Thus, all these answers depict the correct usage of the word ‘bear’.

Q5. b) Flew high.
In the context of the passage, "soared" means "flew high." It describes the kite
moving upwards in the sky. The correct answer is “Flew high”.

Page 4 of 5
© COPYRIGHT 2024 eTutorWorld Corporation, 2900 West Road, Ste 500, East Lansing, MI 48823, USA, ALL RIGHTS RESERVED
http://www.etutorworld.com




\_)
MW |

Q6. c) To save energy and stay warm

The passage explains that animals hibernate to save energy and stay warm during

the cold months. The correct answer is “To save energy and stay warm”.

We have MAP Experts who can help you. Click Below to Book a Free Class
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